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Questionno: 1

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

The table below shows the relationship between the x and y.

y|4]7]10] 13

Which of the these equations expresses this relation?
Aly=2x+2

B:y=x+2

Ciy=4x-4

D:y=3x-2
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Overall | A: 10.7% | B: 13.3% | C: 8.7%| D: 67.1% Invalid Answer: 0.0% | Not Attempted: 0.3%




Question no: 2

Skill: Number sense, related concepts and basic number competencyPaper Set: A, Medium: English

A 'is a common factor of 3 numbers X, Y and Z.

Shown below are the prime factorisations of X, Y and Z.
X=2x3x5xA

Y=2x2x3x3x5xA

Z=2X2%x2x3x3xA

Which of the following is DEFINITELY a factor of the sum X +Y + Z?
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Overall | A: 12.1% | B: 31.2% | C: 40.0% D: 15.0% | Invalid Answer: 0.0%

Not Attempted: 1.7%




Question no: 3

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Megha takes tablet A every 4 hours and tablet B every 6 hours. How often will she take

both the medicines at the same time? 1 A 108
A: every 2 hours S m e mE 227
B: every 10 hours *0 h:‘ My C 61%
C: every 12 hours 20y AR, h:_.- O 52
D: every 16 hours 0 gbe— Mm
4 8 12 16 20 24 28 32 36 40
Overall | A: 10.4% | B: 22.1% | C: 61.8% D: 5.5% | Invalid Answer: 0.0% | Not Attempted: 0.2%
Question no: 4
Skill: Integers and Rational numbers, Powers and BasesPaper Set: A, Medium: English

Numbers that can be written in the form mn where m and n are integers and n is not equal
to O are called rational numbers. Lo

80 +A 187
Which of the numbers in the list below are rational numbers? Bo mE 257

40 C17%
A:only -252 and 1 | e o 2t
B: only -252 and 0.3310 . “\‘&‘ M Caaama -*,’,i

C: only -252, 0.3333.... (recurring) and 1
D: All of them are rational numbers.
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Overall | A: 18.6% | B: 25.9% | C: 17.2% | D: 35.9%

Invalid Answer: 0.0% | Not Attempted: 2.4%




Question no: 5

Skill: Integers and Rational numbers, Powers and BasesPaper Set: A, Medium: English

100
-4-(-5) = &0 Y #0 62
A -1 &1 " mE 24
B:1 40 h__.'...- C 62
C:-9 20 ::thm.'_ oo 0O z¥
D: 9 0 g + *‘ ..**A “’“-‘"- ot o
S T I I 1 ' ' -
4 8 12 16 20 24 28 32 36 40
Overall | A: 6.7% | B: 84.4% C:6.1% | D: 2.8% | Invalid Answer: 0.0% | Not Attempted: 0.1%

Question no: 6

Skill: Integers and Rational numbers, Powers and BasesPaper Set: A, Medium: English

Which of these numbers are equal? )
119 1 0
1 119 119
A:
only 1119 and 11
B: only 1119 and 1191

C: only 1119, 1190 and 11
D: None of them are equal.
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Overall | A: 36.3% | B: 15.3% | C: 42.5%

D: 5.5%

Invalid Answer: 0.0%

Not Attempted: 0.5%




Question no: 7
Skill: Fractions, Decimals, Ratios and PercentagesPaper Set: A, Medium: English

If represents 75%, which of the following represents 125%?
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Overall [ A: 2.5% | B: 9.0% | C: 73.1% D: 14.9% | Invalid Answer: 0.0% | Not Attempted: 0.5%




Question no: 8
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

What fraction of the shape below is shaded?
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Overall

A: 2.6%

B: 6.5%

C: 5.8%

D: 84.9%

Invalid Answer: 0.0%

Not Attempted: 0.2%




Question no: 9

Skill: Fractions, Decimals, Ratios and PercentagesPaper Set: A, Medium: English

0.5 is the same as -
i) 5% of 10

ii) 10% of 5

iii) 50% of 1

A: only (i)

B: only (ii)

C: both (i) and (ii)
D: all - (i), (ii) and i)

inol &
G
=11
40

*
bt e

0 gl

2l l-r-.._",,ll‘,,-..‘d‘\““L - shid,y

Ty

o
[ S LR .

4 8

1 1 1 1
1z 16 20 24 25 3

T T

36 40

+A 198
mE 12%
(B [
0 563

Overall | A: 20.0% | B: 12.5%

C: 10.5%

D: 56.6%

Invalid Answer: 0.0%

Not Attempted: 0.5%




Question no: 10
Skill: Mensuration - Area and Perimeter, Volume and Surface AreaPaper Set: A, Medium: English

3 of the different faces of a cuboidal box have surface areas 20 cm?, 48 cm‘, and 60
cm? respectively.

area of face = 20 cm’

area of face = 48 sz—’ «— area of face = 60 sz ;:“ + - —
-
60 * ‘ﬂ - mE 204
wl * * “m"h - . C 27
\ 20 gotghatabiy, Sooil ittt 0 21
(Note:- figure not to scale) v U T M,
4 & 17 16 20 24 28 32 36 40

What is the volume of the cuboidal box?

A: 128 cm®
B: 240 cm®
C: 256 cm®
D: 57600 cm®

Overall | A: 29.9% | B: 20.2% C: 27.1% | D: 21.7% | Invalid Answer: 0.0% | Not Attempted: 1.1%




Question no: 11

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

What will happen to the perimeter of the larger square if the shaded part is cut out of it?

V/

A: It will increase.
B: It will reduce.

C: It will stay the same.
D: It depends on the size of the square.
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Overall | A: 6.8%

Invalid Answer: 0.0%

Not Attempted: 0.3%




Question no: 12

Skill: Mensuration - Area and Perimeter, Volume and Surface AreaPaper Set: A, Medium: English

Shown here is a triangle with two of its sides as 9 cm and 4 cm and a square of side 5 cm.

9cm 5cm

Both the figures have the same perimeter. What would be the length of the third side of
the triangle?

A:5cm

B:7cm

C:8cm

D:13cm
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Overall | A: 20.3% | B: 63.6% C: 8.4%| D: 7.3% | Invalid Answer: 0.0% | Not Attempted: 0.4%




Question no: 13

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Lines | and m are parallel. Which figure shows the correct angle measurement?
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Overall | A: 8.7% | B: 70.9% C: 11.5% | D: 8.7% | Invalid Answer: 0.0% | Not Attempted: 0.2%




Question no: 14

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Anupam draws a triangle whose three sides are of length 5 cm each. He finds that all the

three angles of the triangle measure 60° each.

Now he draws a triangle all of whose sides are 10 cm each. Which of these is true about

the three angles of this triangle?

A: All the three angles will measure 30° each.

B: All the three angles will measure 60° each.

C: All the three angles will measure 120° each.

D: (We cannot say anything without measuring the angles.)
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Overall | A: 6.2% | B: 66.6% C:14.1% | D: 12.8% | Invalid Answer: 0.0% | Not Attempted: 0.4%




Question no: 15
Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Three equilateral triangles are inscribed in a circle with center O as shown below.

Which of the three triangles are congruent?
A: triangles 1 and 2 only
B: triangles 2 and 3 only
C: triangles 1 and 3 only
D: all the three triangles
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Overall

A:2.2%

B: 3.2%

C: 14.6%

D: 79.8%

Invalid Answer: 0.0%

Not Attempted: 0.2%




Question no: 16
Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English
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Overall | A: 73.6% B: 11.8% | C: 11.0% | D: 3.4% | Invalid Answer: 0.0% | Not Attempted: 0.2%




Question no: 17

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

. OM-ON .

The subtraction of is:

e 100 m ‘,““Hm
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Overall | A: 59.0% B:26.1% | C: 11.5% | D: 2.9% | Invalid Answer: 0.0% | Not Attempted: 0.5%




Question no: 18
Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Of the pieces shown here, which two could form a semicircle when placed next to each other with

their edges touching?
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B: Wand Y
C:YandZ
D: Z and X
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Overall | A: 6.9% | B: 68.7%

C: 7.0%

D:17.1%

Invalid Answer: 0.0%

Not Attempted: 0.3%




Question no: 19
Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

I 3
Line (d) passes point A (4;5) with the perpendicular vector = (2’1) :
The parametric equation of (d) is:

X=4+2t
A- y: 5+t 1on
' so )+ s 40
X=2+4t B, o e, mE 14%
T _,: Lo LTI Cody
V= 1+ 5t 2p | B - R 0 3
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{x:4+t
c. y=5-2t

{x:2+ﬂ
o y=1-4t

Overall | A: 40.0% | B: 14.1% | C: 41.9% D: 3.7% | Invalid Answer: 0.0% | Not Attempted: 0.4%




Question no: 20

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Given is acircle (C) with the center I (3 ; -4), the radius R = 5. The equation of

o0

circle (C) is: U #A 19
009 1 mE 167
A: (X+3)2+(Y-4)=5 e C 26l
B: (X-3)2+(Y+4)2=5 20 | Vol D 362
C: (X +3)2 + (Y -4 )= 25 L S i
D:(X-3)2+(Y+4)2=25 4 8 12 16 20 24 28 32 36 40
Overall | A: 19.8% | B: 16.4% | C: 26.1% | D: 36.7% Invalid Answer: 0.0% | Not Attempted: 1.1%
Question no: 21
Skill: Mensuration - Area and Perimeter, Volume and Surface AreaPaper Set: A, Medium: English
 —
Given are 3 random points M, N, P. Which following answer equals to MN ?
e —_
MP + NP n i
: &0 ...n' +A 23X
_ _— &0 "“H N - mE 527
PN - PM L * ﬂw*. " C12%
B: 20 __“._,.,r-"' "#mw 0 11%
0 el T T T T T — 'T'* o
C: MP - PN 4 5 12 16 20 24 25 32 36 40
. PM —-PN
D:
Overall | A: 23.1% |B: 52.1% C:12.7% | D: 11.9% | Invalid Answer: 0.0% | Not Attempted: 0.2%




Question no: 22

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

The given statement “V € R, X° - 2X + 4 > 0", Which statement is the negative o -
clause of the mentioned clause? = Ol A 13E
AV ER, X2-2X +4<0Q" ECE (I _'-" mE 457
B:“‘9 €eR, X2-2X+4<0" i Yty aamely C 163
C:“3 e R, X2 _ 2X + 4 S Ou 20 o 4‘1,‘,“"7‘.‘” via O 24%

“ " L T T T T T e
D:“3€eR, X2-2X+4<0 s 8 12 16 20 24 28 32 36 40
Overall | A: 14.0% | B: 45.1% C: 16.2% | D: 24.2% | Invalid Answer: 0.0% | Not Attempted: 0.5%

Question no: 23
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
In a vase, there are 6 times as many roses as lilies. -
o “‘w"‘w - n

If R stands for the number of roses and L stands for the number of lilies, which of the ‘u"’" o s
following equations describes the above statement? . ' B
A:R=6L N g, NS C 8d
B:6R =L 20 e - D 4%
C. R = L + 6 0 g ““ s , 'I"'ﬂli'!-_::r\_
D.' 6R = 6L 4 & 12 16 20 24 28 32 36 40
Overall | A: 66.5% B:20.0% | C: 8.9% | D: 4.3% | Invalid Answer: 0.0% | Not Attempted: 0.3%




Question no: 24
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
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4 5 12 16 20 24 28 32 36 40

Overall | A: 4.7% | B: 85.9% C:3.0% | D: 6.3%| Invalid Answer: 0.0% | Not Attempted: 0.1%

Question no: 25
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

100
Which following point belongs to the line representing y = —3x + 1? a0 T
A: (1;0) g | ™ mE 113
B: (-2;5) 40 :f“,,m. C 15%
C: (-2; -5) 21 -i"."“::‘r?‘“‘h# O 53%

D: (-2; 7) 0 et T-.-'P'T-'F"!-—;—
4 8 17 16 20 24 75 32 36 40

Overall | A: 19.0% | B: 11.6% | C: 15.6% | D: 53.2% Invalid Answer: 0.0% | Not Attempted: 0.7%




Question no: 26

Skill: Number sense, related concepts and basic number competencyPaper Set: A, Medium: English

Which of the following polynomials has a factor (m + n)? g0 ¢ A 27%
A: m2 + n22 60 mE 15
B:(m-n) .
Co e +1mn + n? :: b, ‘*'.-‘f"‘mm“h C o193
- e T 0 35
D:-km-kn-(m+n) ) e N
4 8 12 16 20 24 28 32 36 40
Overall | A: 27.5% [ B: 17.0% | C: 19.3% | D: 35.9% Invalid Answer: 0.0% | Not Attempted: 0.3%
Question no: 27
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
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Overall | A: 58.7%

B:17.8% | C: 15.5% | D: 7.2% | Invalid Answer: 0.0%

Not Attempted: 0.7%




Question no: 28

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

For any numbers x and y such that x = 70 + y, what can be said about x and y?

A x=y
B:x<y
C:x>y

D: None of the above can be said as the exact values of x or y are NOT known.
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Overall | A: 6.3%|B: 9.7% | C: 51.1% D: 32.6%

Invalid Answer: 0.0% | Not Attempted: 0.4%

Question no: 29

Skill: Fractions, Decimals, Ratios and PercentagesPaper Set: A, Medium: English

y + 10 < 10. Which of these is DEFINITELY true?
A:yis any negative number.

B:yis apositive number less than 10.

C: y has to be a negative number less than -10.

D: y + 10 cannot be less than 10 for any value of y.
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Overall | A: 66.6% B: 10.1% | C: 12.6% | D: 10.5% | Invalid Answer: 0.0%

Not Attempted: 0.2%




Question no: 30

Skill: Reasoning and Problem Solving (Advanced or challenging problems)Paper Set: A, Medium: English

The coordinates of | of parabola (P): y= - - 2x + 5 is: ;:u __"' —
"
B

A:l(-2;5 Sy - mE 453
B | (_ : ) 40 NI _'-".. C 18%

. ( 1 y 6) ek, ab i L raf P T TR
C:1(L:2) 20 £ _..-J.'".F = » Spatbyag ot o113

N "o 0 feEmy T T T T T T T .N\':\.:
Di1(2:-3) 4 8 12 16 20 24 28 32 36 40

Overall | A: 23.3% | B: 45.3% C: 18.9% | D: 11.9% | Invalid Answer: 0.0% | Not Attempted: 0.6%

Question no: 31
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

The line representing y = 3x + 2 will intersect with the line representing which e
equation? 50 ey A 167
A:y = 3x 9y e L
B:y=-3x+4 40 “n.‘ﬂn'-:.... C 13
C: y= 3X +5 20 i R T T ats o O 11%

. —_ 0 g T T T T T T - prd
Diy=3x-1 % 8 12 16 20 24 28 32 36 40

Overall | A: 16.9% |B: 57.1% C:13.7% | D: 12.0% | Invalid Answer: 0.0% | Not Attempted: 0.3%




Question no: 32

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

100
The set of the roots of inequation XX =X —6<0is: a0 on 157
A: (—o0; =3) U (2; + o0) & mE 163
B: (-3; 2) wlh e, C 457
C:(-2;3) SRl oo VN b 21
D: (_CD’ _2) N (3! + (XJ) L T T T T T ‘T‘” wn——
4 8 12 16 20 24 28 32 36 40
Overall | A: 15.1% | B: 16.2% | C: 46.0% D: 22.5% | Invalid Answer: 0.0% | Not Attempted: 0.2%
Question no: 33
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
100

Equation x?—2x +m—1= 0 has roots when and only when: 50 +f 328
A:m=>2 IR mE 17
B:m>2 40 ':.ﬂ‘“.m‘”“"u“ﬂ C 142
C:m<2 TR - o S D 35%
D: mS 2 0 ey T T T T T -Hll\ *"". L —

4 8 12 16 20 24 28 32 36 40

Overall | A: 32.7% | B: 17.0%

C: 14.4%

D: 35.3%

Invalid Answer: 0.0%

Not Attempted: 0.6%




Question no: 34

Skill: Number sense, related concepts and basic number competencyPaper Set: A, Medium: English
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This redacted item is not for public release. w| B e TR D 24
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4 8 12 16 20 24 28 32 36 40
Overall | A: 22.8% |B: 17.7% | C: 33.8% D: 25.0% | Invalid Answer: 0.0% | Not Attempted: 0.7%
Question no: 35
Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English
A group of 10 friends have some marbles with them.
If they had 3 more marbles, they would be able to distribute the marbles equally amongst ||
themselves.
a0 #A 11K
G mE 2
24
Which of these could be the number of marbles they had? T ut aa C 13¢
20 - 'r',, A 0 52%
A 13 i e T N
B: 20 4 5 12 16 20 24 25 32 36 40
C:33
D: 47

Overall | A: 11.1% | B: 22.7% | C: 13.8% | D: 52.1% Invalid Answer: 0.0%

Not Attempted: 0.3%




Question no: 36

Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English

Rahul's father is 6 times as old as Rahul. Rahul's mother is 25 years old. The average age

of this family of three is 20 years. How old is Rahul? 50 *n TE

60 mE 5F
A: 15 years s | = C 117
B: 10 years 21 - 7 0 72
C: 7 years 0 hase ehinion
D: 5 years T4 8 17 16 20 24 73 3 36 40
Overall | A: 7.6% | B: 8.5% | C: 11.3% | D: 72.0% Invalid Answer: 0.0% | Not Attempted: 0.6%

Question no: 37
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
A sheet of paper is 0.012 cm thick. What would be the height of a stack of 400 sheets of ;:u TT
this paper? A
A:0.048 cm 1 mE 107
B:0.48 cm + ;h : C 674
C:4.8cm 200 A D 102
D: 48 cm 0 e e
4 8 12 16 20 24 28 32 36 40

Overall | A: 11.1% | B: 10.5% | C: 67.4% D: 10.4% | Invalid Answer: 0.0% | Not Attempted: 0.6%




Question no: 38
Skill: Reasoning and Problem Solving (Advanced or challenging problems)Paper Set: A, Medium: English

Observe the number pattern in the number triangle below.

1< Row 1
2 3 4« Row 2
5 6 7 8 9< Row 3 o Y
10 11 12 13 14 15 16 <—— Row4 e oo
17 18 19 20 21 22 23 24 25<— Row5 ., W’“ﬂwmmﬂﬂ__;_ n
T8 12150 %4 28 %2 % 40

If it is extended, what will be the last number (on the right) in the 9" row?
A: 25
B: 36
C: 61
D: 81

Overall | A: 4.2%|B: 9.7% | C: 9.8%| D: 76.1% Invalid Answer: 0.0% [ Not Attempted: 0.2%




Question no: 39
Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English

A field PQRSis in the shape of a quadrilateral.

P
S

ton! m e

R lQ H0 ““‘ #A 37E
60 ‘,H mE 30¥

[ ] n +

(Note: Figure not to scale.) IR Sl ol C ek
g BRI, -.-.'.-.-. D 187

If you walked from Q to P to S to R along the boundary of the field, you would have B S P e P s s

covered 140 metres. If you walked from P to S to R to Q along the boundary of the field,

you would have covered 135 metres.

Based on this, which of the following can you conclude?
A: PQis 5 mlonger than QR

B: QR is 5 m longer than SR

C: PSis 5m longer than PQ

D: the perimeter of the field is 275 m

Overall | A: 37.5% B:30.2% | C: 12.9% | D: 18.8% | Invalid Answer: 0.0% | Not Attempted: 0.6%




Question no: 40

Skill: Reasoning and Problem Solving (Advanced or challenging problems)Paper Set: A, Medium: English

80 girls and 100 boys appeared for the class 10 board exam from Pratibha School. 25% of

the girls and 10% of the boys who appeared got A grades. N ,,h*“

&0 " *h 39
What percentage of the total number of students who appeared got A grades? * ”*' B 152
A: 16.70% * 42t C 122
B: 17.50% 20 --,_;4;,.~w;-.-., D 36%
C: 25% 0 Cme— T T T T T |.J'FT“'-55\.:
D- 35% 4 8 12 16 20 24 28 32 36 40
Overall | A: 34.6% B: 15.3% | C: 12.8% | D: 37.0% | Invalid Answer: 0.0% | Not Attempted: 0.4%

Note: For each question, options marked with RED letters shows % of students who gave wrong answers, options marked with GREEN letters
shows % of students who gave correct answers.




